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(592) M.Com (SECOND SEMESTER) “
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Compulsory |
Group - \
Paper - 111 \
ACCOUNTING FOR MANAGERIAL DECIS{ON
Maximum Marks : 80
Miniﬂum Passing Marks: 29
He I et ¥ PEUER SR ARG | T @ oin 9 aiRe iR e ¥
Note: Answer From Both the Section as Directed. The Figures in the righ#-hand margin indicate marks.
GUus—3[ / Section -A “
I PR sf—oy S8 T @ 9TR AR | 1X10 = 10
Answer the following very short type questions:- |
(a) TS F4T 7 | |
What is contribution? |
b) At A1 wret ot # < eRT @ fakag | \
What two factors in" Mark or buy decison. ]
(c) o faereiwor &1 @@ anf € \
What is the meaning of Financial analysis? |
(d TAM AHR feremor @ 2| \
What is common size analysis. |
(e) HaTerd U A 27 \
What is operating ratio? \
® FOT AT SIS BT GHI | \
Explain debt- equity ratio?
(g) PN B FET A AY T FHS 87
What do you understand by sources of funds?
(h) g FINS GOl F HH w9 Bl 87
When is there a decrease in net working capital?
(i) SUAaT si@ern fawrowor w@r 87
What is value chain analysis?
) fasma ydas @1 ufaed & 9 o wwEe 87

What do you understand by report to sales manages?

Time:- Three Hours ]
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2. frfaRed arg—sTRg weAl & SR AR — 2x5=10
Answer the following short answer type questions-
(@) AT fag &1 T wE@ ©?
What is the importance of B.E.P.?
(b) IR ol R YT @ VAT H 99T " 87
What is the importance of the calculation of return on capital employed?
(©) HAE | DY P A B B o 27
How is the calculate fund from operation? \
(d) TOT TS B HiE e ST | \
Explain brief quality costing. |
()  Priwwr AT Td ST wRAET ¥ @ SR &7 “
What is the deference between control and information report? |
Yuvs—4 / Section -B \
fFfaRed -yl @ S AR ‘\ 12x5 =60
Answer the following long answer type questions. |
3%1¢ / Unit-I |
3. gu g fr Y o W P amRe GRom SR R 2 |
Dhruwa ketu Ltd. has placed before you the following trading results: |
Years Sales ~ Profit
(@) (faspa) (™)
2018 2,00,000 " 10,000

2019 1,80,000 | 4,000




() ™ A3 3t (P/V Rato)
?2) fer @ (Fixed costs)
3) ¥4 fawsg fag (B.E.P.) \
4) af Redl %, 2,50,000 &, & @ % RN Amount of Profit if the sales is Rs. 2,50,000.
5) fas wud # 5@ gfewa @m1 % 7,500 B Sales in rupees when desired profit is Rs. 7,500.
©6) ®. 11,250 T T W GReT WA | Margin of safety at a profit of Rs. 11,250.

3ar/ Or ‘
IR B waﬁm@ﬂaﬁa%mﬁﬁrﬁuaﬁwﬁm—ﬁwwﬁaﬁmﬁﬁwma@m
What consideration should be kept in mind while making decision regardn#g "Make or Buy"
decision of a product? |

18 / Unit-IT |
Riefrr Riaesif @ Reremer & oy 71 e 87 S0 qedet @ g
What do you understand by the analysis of financial statement? Explain its| various techniques.
3gar/ Or \
=1 &1 ST T (Answer the following)
N A T BT =] AN 4:5:1 TAT TRA AU 31 ¥ | B W, 60000§Iﬂﬂmﬁfﬁﬁ7\f'§l
The current ratio of A Ltd. is 4:5:1 and the liquidity ratio is 3:1 ln+entory is Rs. 60,000. What are
the current liabilities? \
) B fi1. & are SR . 1,00,000 & | AR U 31 WY . 50000%‘IWWWWWW
BT | ‘
Total current liabilities of B Ltd. are Rs. 1,00,000 and liquidity ratlp is 3:1 Inventory is Rs. 50,000.
Find the current assets and current ratio.
(3) Cﬁvf.zﬁmmﬁzﬁa%wmﬁ2,oo,ooo%|aﬁwﬁmmu+ﬁu’faﬁwmso% =l
w%wﬁfm4§uﬁzﬁmﬁzﬁrmamﬁaﬁahm\ﬁwwﬁl
A Company has the shareholders equity of Rs. 2,00,000. Total assets are 60% of shareholders
equity while the assets turnover of 4, If the company has an inventory turnover of 6, determine the
amount of inventory.
) Qzﬁwﬁﬁaﬁzmsﬁ?smoooo%mﬁmmw B @ aY B 3 A “py
@1 IR ST B | o B ofq B Gy 9 B YRS B gorr § 15 o |
Rs. 1,00,000 is the net sales of a concern during 2018, If inventory turnover is 4time. Calculate the
inventory, If inventory at the end is 1.5 times of that is in the beginning.

313 / Unit-11I \‘
vrofig fafics 3 31 w4 2017 9 2018 B wfdra Rred e g 8- \
The balance sheets of Rajiv Ltd. as at March 31, 2017 and 2018 are give below.

Rajiv Ltd. |
(Balance sheets as 31st March, ----------- ) |
faawor (Particulars) 2018 2017
() @ vd i (Equity as liabolities) |
(1) 3iwenRal @1 @1 (shareholders funds)
3rgelt (share capital) 23,50,000 23,50,000
81 fJaRer o3 (statement of profit and loss) 2,b4,000 1,68,000
W waa (General Reserve) 9,30,000 9,00,000
(2) R—arq R (Non-current liabilities) |
R B forg smare (Prov. for taxation) 30,000 2,25,000
su% FY (mortgage Loan) 8,10,000 -
(3) =g el (Current liabilites)
@& <4 (Trade payables.) 4,02,000 5,04,000
Total (1+2+3) 47,26,000 41,47,000
(I) w=aRet  (Assets) |
(1) R—=re w=Rwdt (Non-current) |
(a) v wufat  (Fixed assets) 19,450,000 22,00,000
(b) faf@m  (Investment) 1,80,000 1,50,000
(2) =rq wwfRdt (Current assets) \
%y (Inventory) 6,30,000 7,20,000
amaie gr (Trade receivables) 13,65,000 6,30,000
Vbg Td A gadieve (Cash and cash Equivalents) Bank 5,91,000 4,47,000
Total (1+2) 47,26,000 41,47,000




FfaRe qe-md— Additional Information:

\
() a8 § . 24,000 G B QAR . 25,500 F I A W |

Investment costing Rs. 24,000 were sold during the year for Rs. ﬁS 500.
@ ad § P S . 27,000 AT TAT| ,‘

Provision for tax made during the year was Rs. 27,000. \

af # wrrg Wl 31 vE 9 R T . 30,000 off, IW W, 3eoo$ﬁéaﬁmw1?—rmaﬂﬂﬁrm
&1 faavor # wftnfera @w o 7|

During the year part of the fixed assets costing Rs. 30,000 were s?ld for Rs.36,000. the profit was
induced in statement of profit and loss.

(a) ad # %, 1,20,000 A P R | “‘
Dividend paid during the year amounted to Rs. 1,20,000. \
AH APS S TN Td I BT R A B |
You are required to prepare sources and uses of cash “
3Jgar/ Or \
ﬁwmﬁaww%?wﬁﬁmﬁfmw%?sﬂaﬁaﬁﬂ—@ﬂ?ﬁﬁmél
What is fund- flow statement? How is it prepared what are its limitations. \‘
3313 / Unit-IV |

\
6. a&wwmﬁw%a&wwmﬁmﬁwﬁamﬁa@m%ﬁﬁmawﬁwwml

What is target costing? Discuss the different phases of methodology in respéct of target costing
JYdr/ Or

Sy mﬁsﬁww?wﬁﬁﬁwmﬁmﬁwﬁ%wﬁnﬁﬁmﬁ%ﬁwmmmm
PR |

(3)

What is value chain analysis? What are its various elements? Discuss its 1mpbrtance to manufacturing
company.

$P1E / Unit-V \
\
Y &Y Vs e8! WfaeT o Wi fAewant @ 87 fraemr ufkes qur gfaes # SR gagd |

What are the essential characteristics of good report for management? Distinguish between "Control report
and Information report.

3qdr/ Or
ey 8g ufadeT & T wWe 27 e ufdew T 27 weue Pioky T AT 17

What do you understand by reporting to management? What is special report’ﬁ Discuss its significance
in managerial decision.




